
Operations with Two Mixed Fractions (C)

Name: Date: Score:

Calculate each result.

1. 523 − 4 512 =

2. 545 − 31315 =

3. 547 ÷ 2 314 =

4. 512 − 145 =

5. 559 ÷ 189 =

6. 1 611 × 579 =

7. 4 815 ÷ 534 =

8. 116 × 518 =

9. 512 + 3 516 =

10. 116 × 512 =

Math-Drills.com



Operations with Two Mixed Fractions (C) Answers

Name: Date: Score:

Calculate each result.

1. 523 − 4 512 = 17
3 − 53

12 = 68
12 −

53
12 = 15

12 = 5
4 = 114

2. 545 − 31315 = 29
5 − 58

15 = 87
15 −

58
15 = 29

15 = 11415

3. 547 ÷ 2 314 = 39
7 ÷ 31

14 = 39
7 × 14

31 = 546
217 = 78

31 = 21631

4. 512 − 145 = 11
2 − 9

5 = 55
10 −

18
10 = 37

10 = 3 710

5. 559 ÷ 189 = 50
9 ÷ 17

9 = 50
9 × 9

17 = 450
153 = 50

17 = 21617

6. 1 611 × 579 = 17
11 ×

52
9 = 884

99 = 89299

7. 4 815 ÷ 534 = 68
15 ÷

23
4 = 68

15 ×
4
23 = 272

345

8. 116 × 518 = 7
6 ×

41
8 = 287

48 = 54748

9. 512 + 3 516 = 11
2 + 53

16 = 88
16 +

53
16 = 141

16 = 81316

10. 116 × 512 = 7
6 ×

11
2 = 77

12 = 6 512
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